Marks: 20

shuiuld be completed in the given tlime and hamded over

Overwriting is not allowed. Do not use lead pencil.
NOTE : Insert the correct optiou (a, b, ¢,

Q.1 Insert the correct option (a, b, ¢, d in the-empty
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NOTE : Scction-A is compulsury, All parts of this section to be answered on the:questions paper itself, It - -

to thie Centre Superintendent, Deleting /

d} in the cinpty box opposite to eack part.
patt,

Each part carries one mark,

(a)-  Commutative (b)  Associative  (c)  Closure (d)  Order
Degree 'n’ of the polynomial Pa(X) s ........oer..., ....integer. .
(a) “Positive “{b) - Negative (¢} Non-negative.  (d)  Non-positive:
A square malrix A = [Ad of order nis said to be ..:......,....... ifA=A ST
(@) Symmetric (b} Skew symmelric (€)  Triangula {d) - Nona of these
A square malrix A is said o be singularif ......c.co.iveee. oo, : o
(@ [Aj=0 “b) A0 (c) - |Aj<D (). [AI>0
Direction of zera vector is ............. P :
(a)  Arbitrary (by  xaxis', c) y-axis (dy zaxis
Sum of the squares of direction cosines of a VECtor iS ........viveeen...s,
@ Zeo - () 1 oy e -1 - 2.
‘The medians of a triangle intersect each other in the raio ol......covoveo .
(@ 1.2 ' L) 2:3 ey A d)y  3:2
Domain of @ SEqUENCE IS .viviuveeeeer i, -
(@ N . L IR © 2 @ W
Tl < 1 herrsum of infinlte: gEOMELTC SEHBS IS ..y.vuvvreseerrenrverienisd
a 94(_1“_.'1), h i’(lii'jl 0 A d a
@ v b r-1 - r--1 ) {=r
G! t . 4
T TR _. .
: § oo ¢
@ 1 {b) & {c} 60 ¢
- If A & B are independent events then PLANB) = o
P{A) A) )
a) L by - P = ) P{AUB d)- P(A).P(B
I ) I C I (V- BT
Numiber of terns in expansion of (a + D) is ..o, '
(@ 8 b 9 ' ey 7 {d} Infinite
The binomial series convergent only if in {14xp .
@ |x|=1 b x> (6} W<t (d)  Xis arbitrary
' cos(a+£)=......,.:.
2 .
(@) » -sinu (&) sina () ~cosu (dj cosu
SN+ 0) = e,
(@) sinQ {b) =sino {c)  cos0 (d) -cos0
For equilateral triangte r: Rty = oo . .
3:2:1 ) 1.2:3 ¢ 2:1:3 . (d 35:1:2
For tiangle ABC inscribed(incentre}™ r=..... ... .
abe A A 1 A
a = b - o {d —_—
@ 5 (0 0. 5= @ =
Which one is even function?.
(@) sinx " by cosecx (¢) secx (d} tanx
Period of sin xis ......... ITTTT : -
(a) g RO (©) 2= () An
IFsin G is negalive and ¢os ) is positive than 0 lies in quadrant ...,
(@ |1 by o ) Nl {d WV
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Q.2 Wme short answers of any TEN of the followmg parts. Each part carries equal
marks. Co : : '
(i) - Find the multiplicative inverse of Z=-'"—2—3.i
(iiy = Factorize P(Z) =32 +7 '

| (i) If A=[_l;1 ﬂ show that (A™) "= A

v FofA:[; j] and B = Hshowthat(AB) ~pla

() Ifr=i-9j, a=i+2] & b=5i-] determini¢ x and y stich that i =xa+yb.
(vi)  Which term of the Arithmetic sequence 4, 1, -2, ...... Cvrenversares is 77.
_(vii) Find ‘0’ such that (:3 =36 -

. o _t
(viii) Expand upto four terms the series (1-x) 2.

(i%) Show that the function f(x)=2x+51s neither even nor odd function.
(x)  Graph the inequality x -2y 24 '

(xi)  Prove that sin€=2sin g-cos% .

(xii} _“'-Sho'w that sin58+ 2sin 30 +sin ® = 4sin30.co80 .
(xiii) Solve the AABC ifa=209,b= 120, ¢ =241

Sectjon - C ' ' - Marks:30.

- NOTE: _ Attempt any THREE qucshuns. Each qucstlon carries equal marks,

Q.3 a) - Determine whether 1+2iisa solution of 2-22+5=0.

by " - TFind *A* such that the system has n_on-trivial solution. *~ x+S5y+ 32 =0
'. \ o . Sk y-Az=0
x+2y+Az= 0
2 3 * '
Q4 a) If y= Xy 3‘7 T whete 0 <x <3 then show that x = iy—
S : . 1+
b) Show that the sum of the first ;n‘ posilive odd integcrs is n’. ‘
Q.5 a) " Prove by the mathematical induction that for all ne N 14243......tn = 2@2_’?_12
' o 9
b) Find the term independent for x in (; xt - -3—1—)
: : X
Q.6 a) Show that M)_ tana + tan
cosocos{l

b) prove that sinda +sna tanSex. .
_ o cos9o. +cosa _



